g SOLENOID OPERATED VALVES NUT ACCESSORIES

(Apply

©12.7 mm Tube, M12x1.25, Apply Coil EC-04W)

PC| Cover For Safety Push Style "P"

Cover For Safety Push And Twist

TC Style"T"

To operate manual override, screw out the knob
protection after removing lockwire (if any) and
push and hold override button.

To return to normal valve operation,

simply release the button.

Weight: 0.006 kg Order Code

Metal push style 6JAA004

To operate manual override, screw out the knob
protection after removing lockwire (if any), then
push the override button and turn clockwise

to hold.

To return fo normal valve operation, push
override button, turn counterclockwise

and release.

imonuol override

-
\

—

26.00

13.00

Plastic safety nut

y M12x1.25

©12.7
for reference.

Style PC” UNIT:mm

<
-
<

The appearance and
the dimension are only

Cover For Safety Screw-Out Knob

MC Style "M"

To operate manual override, screw out the knob
protection after removing lockwire (if any)
Turning it counterclockwise.

To return to normal valve operation,

turn the knob clockwise.

Weight: 0.007 kg
Metal push and

twist style
: manual override

A—

Order Code
6JAAQ05

Weight: 0.006 kg Order Code
Metal twist style
\manual override 6JAA004

pay

26.00

Plastic safety nut

M12x1.25

o
el
~O
(40)
A = %/ Plastic safety nut
o I -
Q
'CL) <
YV M12x1.25
Th d
o w27 ;hf: 3;’3#’:.%?32°§§2nuy
" n or rererence.
Style "TC UNIT:mm
Plastic Nut For Style "M", "P" & "T"
Weight: 0.004 kg Order Code
6JAA002
Metal push style
manual override
Plastic nut

Metal push and

twist style }/
; manual override %/ A
I o
Q
gurn:

)
M12x1.25 Y
The appearance and E—
» < @ 12.7 ;he d;mension are only @ 12.7
or reference.
Style "MC UNIT:mm Plastic nut™ Style "P"
Plastic Nut For Style "Non-adjustable™ i/ M12x1.25 Metal twist style
_ A manual override
Weight: 0.004 kg , Order Code ' o Plastic nut
'/Ploshc nut g \
" 6JAAQ03 © R
Y A
o — — o
= .4' P12.7 - =
- S & 1k gl —
v w225 Style T 105 v
- The appearance and |The appearance and
@ 12.7 the dimension are only | the dimension are only D12.7
o for reference. for reference. T
Style "N UNIT:mm | UNIT:mm Style "M
Rev.211116 J.990.111.E



